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NO. 8 + 16.860  0.000
3.3 1. 65 5.2 3.4 1.70 5.3

NO. 9 + 0.000  3.140
5.4 4.35 10.7 3.4 3. 40 8.3

NO. 9 + 2.450  2.450
5.5 5.45 40.9 3.4 3. 40 25.5

NO. 9 + 9.960  7.510
5.3 5.40 54.2 3.4 3. 40 34.1

NO. 10 + 0.000 10. 040
5.6 5.45 49. 3 3.4 3. 40 30.8

NO. 10 + 9.046  9.046
5.4 5. 50 60. 2 3.4 3. 40 37.2

NO. 11 + 0.000 10.954
7.6 6. 50 28.9 3.4 3. 40 15.1

NO. 11 + 4,446  4.446
5.5 6. 55 29.9 3.4 3. 40 15.5
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NO. 8 + 16. 860 0. 000
2.0 1. 00 3.1
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1.9 1.95 4.8
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NO. 12 + 0. 000 10. 990
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NO. 13 + 9. 746 9. 746
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